AR 2D

plh= B (RN A A [P - A

93

B & EF W

NIPAS

A

&3 HH

N|
124

il

kA
7/
oy
1-27 2 = VU 10.5%
< B 0 .0%0
2 250 HP 4.7%o (1.30) %/ v g (14D T
250 ®
i 54750
[ 56.186 t
z t — = 1-24
< + + N 201 250 VU 49%  50.04 (.10 50.77 N
1=27 A IS ;. 250 VU 4.3% 3191 I~ W 55.651 <
. A OAG)] (@)y<— @< [T 55.390 55.404 - 4 «L >
Tﬁ&fﬂL;T_ @re 3 o o
A kil a
= 7 W
€ ¥
: , :
S
) N
A
©9° N
48 © e
55450 L&/
S
Q
g
(S}
X &
QY
T/ sy
o kD
/\ ~
N P
& A &
Q ) AN
5/ 8 v 7
a
/ )
m/ (@
55 .
ka3
/< Q N
2 o Ny D
50/\/ 73 S t I
o & z
.5,,/00 N\ 3
> £
49 -
k21
Ay
2 /8 =
32 v/ A
55278 N ko
©) k2l
I\
3
k-] &/ A
x & =
&
&
v -
N/ & ¥
yS N
~N W 4,’;
&
)
55 k)
25 /\4)\ <
2 £ -
) N
/V,og b
~ '5%0
9.
2'96’
(/-5(9 §
P4 S
788> R
ON 2
+ <% o)
o) ki
A x
S/ _
Ny =
7AN 30,
0k,

105 92

18

106 93

79

107 94

80

M

oE5<vTk—IL

18<kR—IL

285<v2hk—IL

357 hk—IL

45T k—IL

H1B8<Th—IL—60X%Xx90

Ho2BTUR—IL——120%X90

(@)
@
O
(@)
©
(@]}
@®
@ INAET R—IL (NE2 0 c mAR)
MAOE<HR—IL (RE25 cmAR)
MNAOFET R—IL (RE3 0 cmAR)
NAOET FR—IL (RE3 5 cmAR)
® NaAOET R—IL (RE4 0 cmAR)
® MAOE<THR—IL (RE4 5 cmAR)
@ MAOE<THR—IL (RES 0 c mAR)
® MAOE<THR—IL (RES5 5 cmAR)
NAOFET R—IL (REG6 0 cmAR)
NAOFET R—IL (RE6 5 cmAR)
© MNOFETHR—IL (A7 O cmAR2)
(@) INOFETHR—IL (RRE7 5 cmAR2)
® NAOFET R—IL (RE8 O c mAR)
NAOFET R—IL (RE8 5 c mAR)
a DK R—IL
@ REH L R—IL
A Bl ok—IL
° wm<hBR—IL
° NHFES
o EIRASEKES
° BKET
o ERASEKEST
° ERNARKET
o BHERFET
® REERET
A
12-70-1
~ ~
D T~ v
B N ) X it AR
P . - R ¢ il + 5l
L W OEE M 4 iH 53 ML
] R g oE i 4 El ]
R ' =
(1.49) =250 HP 21.3 %0 10.35 ( 1.40) N
O
49. 367 g 49. 147 2
4 A 1t ' =
J;i [ ] T i
L}ég S 0B g 72




